00,

470
470
470

000
000

s
TDA9820

PIq°0i7/AUOSOPALIBP\UOSOPAWSP\3|fEes\anbiuods|8\se|0dIN\:d  2§:G0:LT L00Z/€0/TE

L L
T T

=
T

1
12k
12k

Coeo]
[1¢]
— iN4004
4

w 2.7k}
=

w 8.2k
=

1 Hox.
|=. [3F ) 200nF

“
]
m@mmq wOmﬁm
- -0
5
2

BC547 @ @
Hoo:ﬂ

E
ﬂ - En - -
2. Nc_n @
| @ cINEE) i

Bea4r - To0nF mﬂﬁ»

- Hd g i @
X M _.w P Xl |x
1l m - n__..m EIE
T &
m 1N4148

l BC547
22nF

10nF

1.2K

470
100nF
NE592NS8
2k

(]
L [1)e
TRITR
%J.
=T
S
3

120K

N000
000
3.3l

v (3]

N
c
)

22K

27K
OHO)
N
c
)
90pF

3
100pF

1N4148 BCs47

N
N
~
L
T




